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Directions (Q. Nos. 1 to 6)

Read the passage carefully and attempt Question Nos. by choosing the most
appropriate option :

At this stage of civilization, when many nations are brought into close and
vital contact for good and evil, it is essential, as never before, that their gross
ignorance of one another should be diminished; that théy should begin to
understand a little of one another’s historical experience and resulting mentality.
It is the fault of the English to expect the people of other countries to react
as they do to political and international situations. Our genuine goodwill and
good intentions are often brought to nothing, because we expect other people
to be like us. This would be corrected if we knew the history, not necessarily
in detail but in broad outlines, of the social and political conditions which have

given to each nation its present character.

1. According to the author “Mentality” of a nation is mainly product of its :
(A) History (B) International Position
(C) Politics (D) Present Character

2. According to the author, the need for a greater understanding between nations :
(A) was always there |
(B) is no longer there
.(C) is more today than ever before
(D) will always be there

3. According to the author, the character of a nation is the result of its :
(A) Mentality (B) Cultural heritage

(C) Gross ignorance - (D) Socio-political conditions
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According to the author his countrymen should :

(A) read the story of other nations

(B) have a better understanding of other nations

(C) not react to othér actions

(D) have vitlal contacts with other nations

5. [Englishmen like others to react to political situations like :
(A) Us ' (B) Themselves
(C) Others (D) Each others

6. The appropriate antonym of the word “vital” is :

(;‘\) inessential (B) serious

(C) exterminate (D) effiminate

Direction (Q. Nos. 7 to 12)

e e R e R e e

e g & JUUE A 9 oK Hed & Her i 91 THRdl % §9 QA 5 A WS
SfiEd W I A 9 faerl oo R Tfe saR w9 o et afiferfEt
¥ 90 91 e T A T U g, W % AU SugR g9 TE, Hed e §9
H T forem 3R TEU U 38, 3T, SHfOuNTE AW o911 dfehd 99 ®l T e
QA s T o1 iR wWrHE W % w9 Ay 9 ¥ 99 T oA ' A
F AEA A fR WEE R WE B 9ES F T 3 faefEal w@ &t o ik
s A w e O A fas @ G T o) 9w R, S H SR I e
gC, T R Al ® wiefe sftam #) erhdeeee fafa ¥ U wew #t 9fa
®1 o frdfem o %
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A) el (B) WM |
(C) iEt : (D) ﬂ%ﬂeﬁtaﬁ_

8 f59 9T A RO TR @ @ Y9 ® fou SvE @E a1 T ?

&) i ¥ Frwem (B) s feafrt

(C) ¥ fefa D) "= H gagar

9. WEEEH WEd W @ Y smew W w4 2
(A)ﬁsaﬁaaﬁmr-m (B) ¥ fo TR W fem @
(©) % gE e Fm o D) @@ ¥’ @k T @

10. 77 70 § == W fadw ®7 F GR @ W™ a1 Fiw Gl W favaw oo
(A) fF wam frdt geg@ W W @ 8 |
(B) fr v Faw fafxm w4 @ w w5 &
(C)ﬁ%ﬁa@mm
@) 5 wiw Ft-woft o< § om &

11 79 1 F 7 dEs @ @Y F am 9 frefw w517 2
(A) R i AfFwE < (B) sy
() ¥ ¥ ¥ FviAeH (D) fowareget
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13.

14.

15.

16.

17.

“Teheml’ w1 Y TEEETEl I ¥ :
(A) THew <&l (B) W
(C) wi= (D) &

Fill in the blanks with the correct option.

The angry Director called erreeesserenees an explanation from the _stqdent.
(A) for (B) in

(C) at (D) about

The Govemment.is seereeraneennnene. 00 deal with the increasing corruption..
(A) firm . (B) determined

©) résolute : - (D) all the abm.we

I understood exact!y-what 17 R ;

(A) Mean (B) Means

(C) Meant (D) Is meaning

More than sixty houses were ............ s in fire.

(A) Whining (B) Fraugﬁt

(C) Gutted - (D) Persistent

The study of the origin of words is called ................... -
(A) Orology (B) Etymology

(C) Philology ' (D) Rhetoric

TBC : 21/(PYII—A 5 PT.O.
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19.

20.

21.

22.

23.

(
An enclosure or structure adapted or prepared for keeping animals under semi- -

natural conditions for observation or study or even as pets is called ...............

(A) Vivarium : (B) Zoo

(C) Abode ' (D) Planetarium

I'm not going to buy ....................... vegetables.

(A) Few - : (B) Some

(C) Any (D) Little

The Plane ...................... before they reached the airport.

(A) Arrived ' (B) Shall arrive

(C) Have arrived (D) Had arrived

Dr. Manoj ........c...ceevonn.. for thirty years in our college before he retired.
(A) Had been teaching (B) Will have been teaching

(C) Shall had been teaching (D) Has been teaching

The Lawyer was sure .................. would die ...................... his money would go
‘to his son. |

(A) he, as | (B) that he, and that

(C) that he, infact (D) he, also

There were .......cccccue....... students in the class ................... expected.

(A) Fewer, then (B) Lesser, than

(C) Fewer, than ' .(D) Lesser, then

TBC : 21/(P)II—A 6
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24. Either my brother ..................... held responsible for the theft.
A OrI . (B) Or me
(C) And me (D) OrI am

Production in Tonnes

Lo
L=

Answer the questions based on the following graph. (Q. Nos. 25 to 27)
f= o e v & sw AR (. € 256 9 27)

Production of P, Q, R & S (1990-95)
S

R

ks
|
i .
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25. In which year the growth rate of total production (of all products) is highest

over the previous years ?
(A) 1991 | (B) 1992
(C) 1993 : D) .1995
o = 3 e SR (wh R ) e e o 3 g e e 2
(A) 1991 (B) 1992

(©) 1993 | ' O 1995

TBC : 21/(P/II—A : 7 -~ PT.O.




(

26. If four products P, Q, R and S are sold at price of Rs. 9, Rs. 4, Rs. 13 and
Rs. 3 respectively during 1990-1995, then the total revenue of all the products

is lowest in which year ?
(A) 1991 : (B) 1992
(C) 1993 (D) None of these

1990-1995 % <NH Ifg = 3@ P, Q, R, S ®H: T041 9, 4, 13, 3 & HHd W
I R E T AR SR g e fRE A § e § 2

(A) 1991 (B) 1992
(C) 1993 D) T wE TE

27. Individual revenue of P, Q, R and S for the entire period (1990-1995) is calculated
based on the price of Rs. Y, Rs. 4, Rs. 13 and Rs. 3 respectively. Which product

fetches the lowest revenue ?
(A) Product P . (B) Product Q
(C) Pfoduct R (D) Produet S

P, Q, R, S &l 3T97-37071 ToRA [ & (1990-95) H STkt Hi¥d HAI: TIC 9,

4, 13, 3 W AT fH T, 99 Y IR H TORE FATH B O?
(A) SR P (B) 30E Q

(C) 3= R (D) 3 S

'TBC : 2U/(PYII—A 8




Read the -passagé below and solve the questions based on it. (Q. Nos. 28 to 30)

Number of taxi drivers and auto drivers working in three shifts are given

below :
Vehicle Shift Number of Working Total eollection
drivers hours (in Rs. thousands)
Taxi M1 425 10 132.1
M2 672 8 240.2
M3 135 6 42.3
Auto M1 350 9 273
M2 425 8 100.8
M3 95 7 18.9

ﬁﬁﬁnw%awmwmﬁﬁwﬁ%-w%rm,#.28@36)
S A 9 A Oreleh & Ge o Rrel # A @ iR

el forre TAHT ] HE F1d * Fe w1 wifa
(B9 F991 #)

il M1 425 10 1321
M2 672 8 240.2
M3 135 6 42.3
2113 M1 350 9 57.3
M2 425 8 100.8
M3 95 7 18.9

A taxi driver charges Rs. 13 for every 1.6 km, while an auto driver charges

Rs. 8 for every 1.3 km. For the night shift, charges are 1.5 times the normal
rate. In case of Auto, M3 is the night shift.

T T wEE TEE 1.6 R 9en & 13 T Yo A § SalE S e
uﬁmlﬁfﬁﬁaa@ﬁﬁsmwm%lﬂﬁm%w,mmﬁ
1.5 T 1 3 & fow M3 1y o/t ©)

TBC : 21/(PVII—A - 9 PTO.
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28. By what percentage is the average collection per taxi driver more during the
M2 shift than during the M1 shift ?

A) 4% (B 15%
©) 34% O s
ol Wi wfy Sdt wree w1 M2 T #, M1 U @ feem whem sy ¥ 2
A) 4% (B) 15%
(©) 34% D 82%

29. Who get the highest returns for their efforts with respect to work hours ?

(A) Auto drivers — M3 Shift (B). Taxi drivers — M2 Shift
(C) Taxi drivers — M3 Shift (D) Auto drivers — M1 Shift
wd & 03 @ fewm § R v W st whe g 2

(&) S TER - M3 frw B) = R - M2 fw

(C) ¢t gar — M3 foree (D) @A gER — M1 e

30. Which of the following is false ?
| -tA) Lowest contribution per .driver is by auto drivers in the M1 shift
(B) Lowest returns for the efforts are for auto drivers in the M1 shift
(C) The percentage of drivers during the M3 shiﬂ; is 21% of the total drivers
(D) None of the above ' |
f # & s T T 7
(A) =R ANEH 9fd S 1 S W &1 M1 9 # #)
(B) = Whw SR w1, S W w M1 T A
(C) M3 it # %o =reieh] &1 21 fav B
) v A
“TBC : 21/(P)/II—A 10




Go through the data set given below and solve the questions based on it.

(Q. Nos. 31 to 33)

The following pie chart gives the percentage of employees working in different

departments of an organization. Total number of employees is 2500.
T S TR N B UL I I W ARG WA b SW S 1 (W G 31 ¥ 33)
fret o W T S0 B i el e @ s 9 v 5 F

ol ¥, SEfe we sHufE g 2500 §

HR, 16% _ Accounts, 8%

"

Administration, 12%

" Printing, 6%

Logistics, 11%

Marketing, 15%

IT, 14%

Operétions, 18%

TBC : 21/(P)YII—A 11 PTO.
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The following table gives the ratio of male and female employees in different

departments :
fr= it fafi= il & w0 = ® St 9 gew wdfal w1 osua aad ¥ -

Department (Fum) Male (7%9) Female (&)
Administration (genmE) 7 5
Accounts (J@n) 2 3
HR (ua.41.) 5 3
Marketing ( faqom) .7 8
1T (sm.2.) 3 4
Operations ( STRYA) 5 3
Logistics (@ifafzs) 6 [
Printing (wzw) 2 1

31. What is the ratio between male employees in Administration and Printing

Departments respectively ?

(A) 7:4 B) 4:7

(C)3:.4 @ D) 7:3
W*ﬁﬂﬁwmaﬂtwﬁﬁﬁwm:w% ?

(A) 7:4 _ (B) 4:7

(C) 3:4 e M 7:3

- 32. What is the ratio between total number of males in HR and Marketing and

the total number of females in these two departments respectively ?

A) 13 : 15 - (B) 15: 13

(C) 13 : i7" D) 17 : 14
meﬁwﬁmﬁﬁwm@aﬁméﬁ&mﬁﬁmw
e ?

(A) 13 : 15 (B) 15 :13

(C) 13 : 17 D) 17 : 14

TBC : 21/(P)/1I—A - 12
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(A) 250
©) 125

Mﬁmﬁmmtﬁﬁﬁmmﬁﬁﬁ%?

(A) 250

(C) 125

(B) 120

(D) 150

(B) 120

(D) 150

33. How maﬁy female employees are there in HR Deparﬁnent 7

Refer to the table given below and answer the questions. (Q. Nos. 34 to 87)

The following table gives some incomplete information on the marks obtained

by four persons Amit, Binit, Charu and Dilip in four different subjects.
= wroft = ofiw 3 S W enuifE wwR @ s Afd) (v §. 34 9 37)
fre wroft & ar d@m sifim, fodfa, = 9 fehn & wR fawd & grars w sl

gEN A W ¥ :
Physics Chemiétry Maths English Total
(slifees foam)| (e fam) | (fom) | (@S | (@)
Amit (3fia) 80 70 i 80 -
Binit (fsrta) 60 - 60 - -
Charu (31F) - * 60 -- 220
Dilip (&=ta) 90 - 70 60 -

Additional information :

Amit’s average marks were 72.5 m all the four subjects.

The average marks in Physics for all four persons were 67.5.

Binit’s average marks for all four subjects were 1.5 times Charu’s marks in

Physics.

TBC : 21/(PYII—A
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(
Binit and Dilip scored the same marks in English. The average English marks

were the same as the average Physics marks.

The total marks in Chemistry were 10 less than the total marks in Physics

for all four persons.
Afafaa ger

fa & ohwa o wsft wrl fowdt 725 §

= ol & ofifew fome # el s 675

fofta & =il fawdi 4 ofwm ofF, o & sdifvw fogm & s @1 15 T ¥ |
forffa o el & ot 4 swar ofw &1 il § ol oiw ifew faem d oiwa
3F & T B

T A & v faw 4 w5 6w, W fEE @ w5 o ¥ 10 39 4

34. Who scored the lowest total ?

(A) Amit (B) Binit
(C) Charu (D) Dilip
ot A W 2 ¥ 2

A) (B) foria
© =% o D) Fefta

35. The average marks for all four persons (for all the four subjects) are (approx.) :

(A) 65.625 (B) 81.225
(C) 995 (D) 105.6
W Wi # W e § w ke siw w2
(A) 65.625 (B) 81.225
(C) 995 D) 105.6

"TBC : 2U/(PYII—A 14




36. Who is the highest scorer in Chemistry ?
(A) Amit " (B) Binit
(©) Charu - (D) Dilip
o e # fre wf o ¥ 2
(A) @i ' : (B) foria
(C) = | (D) feefs

37. Who is the lowest scorer in Physics ?

(A Amit - (B) Binit
(C) Charu ' o (D) bilip
fifter fagm § fFod =mom % € 2
(A) st | | (B) fariia

(C) =% (D) feefta

38. The greatest number that divides 148, 246, 263 leaving remainders of 4, 6,

11 respectively, is :

(A) 14 (B) 12

©) 8 . (D) 16

98 Ha4 Fe! §&A, 99 148, 246, 263 &I UM 24 W HE: 4, 6, 11 Y FHdT
TR ? |

(A) 14 (B) 12

©) 8 B D) 16

. TBC : 21/(PYII—A ; 15 - BE1.0,
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39. If HCF and LCM of two numbers is 16 and 240 respectively and one of the

number is 48, then the other number is :
(A) 60 (B) 70
(C) 80 D) 50

A HEAST BT WewH 9 AITH FAN: 16 9 240 ¥ A« UF G@A 48 ¥, A w5

& ;¥ ?
(A) 60 (B) 70
(C) 80 (D) 50

40. Three men start together to travel the same way around a circular track of

2
they meet at the starting point ?

; . |
11 kms. Their speeds are 4, 5= and 8 kms per hour respectively. When will

(A) 22 hrs _ (B) 12 hrs
(C) 11 hrs | (D) 44 hrs
?ﬂ'—rematﬂ,@wwlmw,ﬁnﬁmﬁmm‘é,mwgﬁmﬁ%
Bﬂﬁnﬁmﬁ,%a-msﬁﬁﬁamw%ﬁm%maﬁﬁgmm
fri 2 | |

(Aj 92 w2 (B) 12 =2

© 11 % - D) 44

TBC : 21/(P)/II—A 16




41. A man spends 2/5 of his salary on food, 3/10 of his salary on house rent and
1/8 of the salary on clothes. He still has Rs. 1,400 left with him. His

salary is :
(A) 7,000 (B) 8,000
(C) 8,000 _ (D) 17,500

@mmammzfﬁnmaﬁm,sflomwmram&ys'umm
W Ed w ¥, R oft U U9 1,400 9T w9 ¥ s S s ¥ 2

(A) 7,000 - (B) 8,000
(C) 9,000 | (D) 7,500

42. Oil is now being sold at Rs. 27 per kg. During last month its cost was
Rs. 24 per kg. How much % a family reduces its consumption so as to keep

the expenditure fixed.

1 . o vl
&) 113 | ®) 113
1 | vy
(C) 115 (D) 11'§

a3 27 F9Q i Frcim &= on @ ¥ ool we Twe Tog 24 w9Q Wi fednm
manﬁnﬁﬁhmwﬁﬁmmtﬂmuﬁmmwmm
a2

1 1
@) 113 S ® u;
1 1

TBC : 21/(P)1I—A 17 P.T.O.




43. A discount of 16% on the marked price of a book enables a man to buy a pen

44.

‘which costs Rs. 80. The amount he paid for the book is :

(A) 400 (B) 380
(C) 420 s D) 440

% frarm @ sifed G W 16 WREE #1 % A W T AR T 4 wie we

t fomat #ma 80 T9T ¥ 39 forae & fow 3@ fraw wa = ?

(A) 400 ® 380
(©) 420 D) 440

What sum of money lent out at compound interest will amount to Rs. 968 in

2 years at 10% p.a., interest being charged annually ?
(A) 600 (B) 800
(C) 700 ' (D) 950

R w9 @ A 10 wRwm ¥R 6 Twafe = fre @ A, 968 T @ AT

ofs =1 afdes & 2
(A) 600 (B) 800
(C) 700 (D) 950

TBC : 21/(PYII—A - 18




45. A train is scheduled to cover the distance between.two stations 46 kg apart
in one hour. If it travels 25 km at a speed of 40 km/h, the speed for the remaining
Jjourney to complete it in S(;hedule time is :

(A) 56 km/h | (B) 52 km/h
(C) 40 km/h (D) 50 km/h

T A R R 46 el g0 W E, T R A w1 7R 9w 25
freiiiex, 40 ey = fy @ 71wt 3, @ o o @ T P T @
fem nfs @ o7 w=vh 2 |

(A) 56 fwamieyHa (B) 52 fraHeygS=
(C) 40 frarfe/g= D) 50 foredeyEe

46. Five litres of water is added to a certain quantity of pure milk costing
Rs. 3 per litre. If by selling the mixture at the same price as before, a profit

of 20% is made. What is the amount of pure milk in the mixture ?
(A) 20 L (B) 22 L
(C) 23 L D) 25 L

TS T N F w9 A # 5 offer et faeret (3 w9 wf ofter an) sen wm ok
fasr 1 sd wed arclt Fwa W AW W@ ¥ @ 20 whewd w1 oW Aa T fasm
4 Us g9 ®1 fHadt wen & 2

(A) 20 & ' (B) 22 ¥

(C) 23 =X D) 25 X
TBC : 21/(P)II—A 19 PT.O.




47. Kamal can row a certain distance downstream in 12 h and can return the same

distance in 18 h. If the stream flows at the rate of 6 km/h, then the speed

of Kamal in still water is :

() 30 kmvh ®) 32 kmh

(€) 6 km/h D) 34 kmvh |
FHATE A HEa d WY B g 12 A g ofey d st S g 18 5 A T4
w1 ¥1 o o R 6 R ¥R S ¥, @ wEa 91 v u) d R
%7 |

(A) 30 freirfier wf o (B) 32 Faeinfiw ¥R
(C) 6 fwemey wfa = (D) 34_%@%@

48, The ratio of alcohol and water in a mikture of 44 L is 6 : 5. How much water

should be added to the mixture to make the ratio of alcohol and water

289
.(A) 12 L o (B) 16 L
(C) 10 L i D) 14L

44 TR & TF fasm d Sowed d T F ATIE 6 : 5 X1 T fasw F fewm o
ar frard fo sewEd 9 U H YW@ 2 : 3 ¥ 9?7
A) 12 #=R (B) 16 #=R

(C) 10 ®ft=R _ (D) 14 =i
TBC : 21/(PYII—A 20




( 49. The average age of all the students in a class is 20 years. The average age
of boys is 25 years while the average age of girls is 15 years. If the number
of girls in the class is 10, then the number of boys in the class is :

A 9 ~(B) 8
(C) 10 (D) 11

WEF&nﬁmﬁmsﬁsﬁaﬂmaTrgzoaﬁ%lEisaﬁaﬁamﬁ-m%a'#%wﬁ
a@:ﬁ:ﬁﬁaﬁ'aﬂwmwaﬁ%uuﬁmmﬁmﬁmm%ﬁaﬁaﬁ

& =R ?
(A) 9 | (B) 8
(C) 10 D) 11

Read the following information carefully and answer the questions given below
it (Q. Nos. 50 to 54) :

(i) Eight persons E, F, G, H, I, J, K and L are seated around a square table
' ‘two on each side.

(@) There are three lady members and they are not seated next to each other.
(iti) J is between L and F. |

() G is between I and F. .

() H, a lady member, is second to the left of J.

(i) F, a male member is seated opposite E, a lady member

(vii) There is a lady member between F and I.
ﬁmwﬁw@v@qamﬁmmmaﬁwﬁﬁﬁ(mﬁ. 50 9 54):
@ 8% E, F, G H L J, K LT TR &9 & 910 @K &% @,
Yo W 93 §) _

(i) 3 & 45 B AW ¥ TH W B W A& S5 T

Gi) J, La F & &g & §) |

) G, I3 F & 39§ &

) H T & ¥, J & a1 gW WA |/ §)
" () F & [ W, E T B wH F g

Wi F & 1 3 &9 & = 9= E

TBC : 21/(PVII—A 21 |  PTO.




50. Who among the following is seated between E and H ?

(A) F B) I
©) J | | D) K
iR ETHS o9 o931 § ? |
A F B) 1
©) J D) K

51. How many persons are seated between K and F ?

(A) One (B) Two
(C) Three . (D) Four
KaFa 9 fem am a3 & 2
(A TH : (B) &
(€) @ | o (D) =R
52. Who émong the following are the three lady members ?
(A) E, G and J (B) E, Hand G
(C) G, H and J D) E, H and F
1§ @ 3 @ #feer we@ € 2
(A) E, G aar J (B) E, H39 G
(©) G HAMJ | (D) E,HAAF
53. Who among the following is to the immediate left of F ?
(A) G ' B) I
©) J ' D) H
A iy PR @A 3 2 2
A G B) I
C) J ' D) H

TBC : 21/(P)II—A 29




( 54,

55.

Which Iof the following is true about J ?
(A) .J is a male member

(B) J is a female member

(C) Position of J cannot be determined
(D) J is not between L and F
3@ o § wr 9 9 ¥ ?

(A) J TF TEW ¥

(B) J = Hfeen &

(C) J 1 A & AW T THd
D.J,LaF & #fi= § 7 &

Read the following information carefully and answer the questions given

below (Q. Nos. 55 and 586) :

There are six children playing football namely A, B, C, D, E and F. A and
E are brothers. F is the sister of E. C is the only son of A’s uncle. B and D

~are the daughters of the brother of C’s father.

ﬁmmaﬁmﬁv&qaﬁ%mﬁﬁﬁ(mﬁ.ma%)-

6 =3 A, B, C, D, Eame@m@%aAamEuﬁﬁuEaﬁmF%r
CA%W?ﬂaﬁﬂﬁa%leD C%ﬁaﬁﬁ%%ﬁ%ﬁa’f%

How is C related to F ?
(A) Cousin |

 (C) Son

Cw Fsnfmar & 2
(A) =90 ¥ |
(C) a1

TBC : 21/(P)II—A
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(D) Uncle

B) i
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56. How is D related to A ? _
(A) Uncle (B) Sister

~ (C) Niece (D) Cousin
DamAdFnfman & 2
() =T _ / (B) =&
(€) wish (D) == W

Study the following information carefully and answer the questions given below
it (Q. Nos. §7-58) :

All the roads of a city are either perpendicular or parallel to one another. The
roads are all straight. Roads A, B, C, D and E are parallel to one another.
Roads G, H, I, J, K, L. and M are parallel to one anocther.

(i) Road A is 1 km east of road B.
(i) Road B is % km west of road C.
(iii) Road D is 1 km west of road E.
(iv) Road G is % km south of road H.
() Road I is 1 km north of road J.
~(vi) Road K is % km north of road L
(vii) Road K is 1 km south of road M.
= = # wrgEs ofer 9 g @& SW AR (9 9 57-58) ¢
TF TR Hi 9 ISH 79 F A1 A FEEARR ¥ A deaq ¥ 9 weH @ ¥ weR
A,B,C,D T E o9 § w9Mik ¥| WeH G, H, [, J, K, L a1 M 399 #
AR € : : :
) g% A, B® qd § 1 freriix w
() W% B, C % Y% freifier ofem 4 &
(i) 5% D, E 3 1 feciier ufvmm & &
(v) 95F G, H & % fweimie afem § ¥
(v) ¥F I, J & 1 freiriier 3w A .
(vi) T® K, L & 1% fhciriter 3w § & | "
(vii) TEF K, M % 1 felfer <fomr 5 &
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(u'?. Which is necessarily true ?

(A) E and B intersect (B) D is 2 km west of B

(C).Iislkm north of L D) M is 1.5 km north of L
A s aa & ? -
(A) E& B &= 8 (B) D, B & 2 freivier gfgo # &

©LL%1fefsmds O MLF 15w sw A
58. If E is between B and C, which of the following is false ?

(A) D is 2 km west of A (B) C is less than 1.5 km from D

(C) D is less than 1 km from B (D) E is less than 1 km from A

R E,BIaCH AT AR oA & & F@ o § 2

A D AR 2frarfr WRkem # % B) C, DA 15 AR A F9 ®

© D,BA1IFFIm A FA % (D) E AD1framz & &9 %

Study the information given below and answer the questions that follow
(Q. Nos. 59 to 61) : :

@ A, B, C, D, E and F are six students in a class.
(i) B and C are shorter than F but heavier than A.
(i) D is heavier than B and taller than C.

(iv) E is shorter than D but taller than F.

(v) F is heavier than D.

(vi) A is shorter than E but taller than F.

2 & T gEw R T % IW AfSA (7. 9. 59 4 61)
) A B, CD,E Fus ®qdeasd i

@ BAMC, FABMEWAS v ¥

(i) D,BA I § & C & &= ®

() E,D® 91 § W F & ool &

() F, D+t &

W) AEIFTITREF I o &
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59. Who among them is the tallest ? ‘ o T

(4) A ® B
©D L D E

T S us o § 2
A) A . ® B
© D D E

60. Who is third from the ‘top when they are arranged in descending order of

height ?
(A)IA ' ~- By B
€ ¢ . D) E
AT S R G w99 F @ o 2 e
A A ' | B) B
© c | - D) E

61. Which of the following group of friendé is shorter than A ?

(&) B, C only (B) D, B, C ing}
(C) E, B, C only D) F, B, C only
fort Ol W 9 A S B ¥ 9

(4) B, C Pt | (B) D, B,.C S
© E, B, C #am (D) F, B, C 35w
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On the basis of the following conditions and the information provided in each
question below, decide which of the following courses of action should be taken
against each candidate. (Q. Nos. 62 to 67) : |

Read the following infor_maﬁon carefully and answer the questions given below it.

The following are thé conditions for s’éle‘cting managers by a company'.

' The candidate must ....... -
(1) Be a g‘r;a.dﬁate in Commerce with 60% marks.

j (2) Have ICWA or CA as conditional qualification

(3) Have worked at least 10 years in sypervisory positi-on

(4) Not be more than 40 years as on 90.03.1993.

" (5) Have fluency in English and Hindi

In the case of a candidate .......

(6) Who fulfils all conditions except at (1) above but has post-graduate degree
with Aécoﬁntancy or Economics, the case will be referred to the Finance

Director.

(7) Who fulfils all conditions except at (2) above but has an' M.B.A. degree |
from a reputed management institute, the case will be referred to the
Managing Director.

(8) Working in the same company for the last 15 :vears as an accountant, the |

condition at (3) above may be Waived but the case will have to be referred

to the General Manager-Accounts for his comments.

(9) Who does not provide the complete information, the application will be

rejected and the candidate will not be selected even if he satisfies all other

conditions.

TBG : 2U(PYII—A o1 - pro.



[P o o W ARG o F IW AR 6 R TRan & an § wm fo |

fom s (w49 62 ¥ 67) S |

e g #1 eAEs TRy 90 e Y R W o ® ww AR

T O F TSR @& v S faw e wd § . |

THRER ... ' _ '

(D) # 60 TR afw B ww wE g 9w

@) = @ ICWA o CA ¥ dram &

(8) T % W W HH I FF 10 79 F9 FFAW A

(4) 20.03.1993 =1 40 I § =T 7 A

(5) st 9 Bl A oRvEg @ . ;
L : . : z 3 q\ 3:[»_ !

(6) j%‘ﬂl‘gaﬁ ﬁ;%sl%jam?jnmg&ﬂmgla%;% S ﬁaaﬂt.%ﬁf U
H % | ‘ < Egs |

T 3R 4 £ ey T e T

@) R T w15 o ¥ eI W Hm W w E 7@ v (3) S B

T T hY HRWEEE-dE & A S -

) mmﬁn#@-mﬁﬁﬁmﬁﬁﬁwmﬁmmamm
W T T e we ow et v ol wwa @

Mark answer :

(A) If the candidate is not to be selected
(B) If the candidate is to be seleciged _
(C) If the case is to be referred to the General Manager .Accm.ints_
(D) If the case is to be referred to the Director-Finance; and

(E) If the case is to be referred to the Managing Director. |
W Fifvea =i . |

(A) ¥ 3iiqar = 937 98 B

(B) aR vfeaR o = dw &

(C) A +y HewaER-S/al &l 5 KO W ¥

D) af wY v (fw) @ G d

(E) =} %9 youd Ry # Jor &
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Madhav Singh is a first class Commerce graduate and has completed his M.B.A.
course from a reputed management institute. He was 85 years old as on 18th

September, 1992. He is fluent in English and Hindi. He has been working as

_ a supervisor for the last six years.

63.

64,

e g T yug St % s I € 9 S TR @ | 0 rrﬁrﬁ?,a TS

eI ¥ fRaT) 18 foarer 1992 #1 9% 35 99 &1 91| 9% il g =Y umErE

m%iﬁ@a@f:aﬁﬁﬁ%wqﬁ%mﬁmmmm%n

Vandana Yadav is a Commerce graduate with 68% marks. She was 84 years

- old as on 5th January, 1998. She is fluent in Hindi and English and also is

~ a Chartered Accountant. She has been working in an organization as a supervisor

for the last 16 years.

S ARe 68 WK ofF B WY FIMH I ¥ 9 5 W 1993 1 34 w9 =

F1 7% o=t 3 o F e ¥ 9 w9 wwe ff ¥ 9 el 16 |
¥ T B § weEE w5 e wE oW W@ T

Atul Mehta is a CA and a graduate 111 Commerce with 63% marks. He is fluent

in ‘English and Hindi and has been working as a senior accountant in the same
company since 1970. He is 32 years of age.

g Hedl TF SEeN § 9 63 i ofw ¥ wind # deue ¥ % ot 9 f
A YUNIYETE § 9 36 FUA A 1970 § TH afS SETER W WE FW W W §| 9

':323&#8%13?%%1'
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. 66. Preeti Dhawan is a post-graduafé in Economics with 68% marks in graduation. |

. ; ' |

65. Aarti Pradhan was 39 years old on 10th February, 1992. She is a Commerce |

graduate with 65% marks and also has a ICWA certificate. She has been working |

as a supervisor for the last 12 years and she is fluent in Hindi and English. ,r

SR FUM 10 E 1992 H 39 7 =t ¥ 9% 65 WU o & Wy wiew Iewe |

Ta ICWA &1 wfifrde ¥ o8 fooer 12 59 & TEeF § 9 o o9 et §
A 3 _

Her date of bifth is 30th December, 1995. She is fluent in Hindi and English,
She has got her ICWA certificate. She has been working as a.supervisor in
a large pharmaceutical organization for the last 12 years. _ ' !

Il oo sreferet & diwe-deue ¥ 9 68 whw o @ I B ! s fafy 80 |
ﬁm’m1995%_:a’a’%ﬁaeﬁﬁﬁm%imﬁw‘mWAwuﬁm%a'
wa@aﬂwsﬁamf&a@ﬁwfmaﬁ@qﬁ%% - ]

; r
67. Sameer Dewan is a Cominerce graduate with second class. He was 35 years |
old on 10th April, 1990. He is also a CA and fluent in Hindi and English. |

He has been working in supervisory cadre for the last 15 years.

Waﬁamﬁa‘mmﬁﬁ_mﬂw%raﬁloaﬁa1990@35%?@%-&%
maﬂ%a%ﬁa@vﬁﬁm‘%laﬁﬁ@ﬁmaﬁﬁﬁaw%l

Study the following information and answer the questions given below it |
(Q. Nos. 68 to 74) : ‘ '

The following are the criteria for allotment of cabins in an organization, The'!
cabins have the following three features : T

(i) Air-conditioned (AC)

(if) Independent

(i) With Ante-Room.

P o qﬁﬁ'_a T B IR ARE (3 9 es A 74) ;0
T @ w A o S 2 W aeee R 3 Hfe A A aE w1 gl &
@ SR L - :
(1) A

() s H Wiy

!

4
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The following criteria are followed :

(1)
(2)
(3)
4

)
(6)

(7

For being entitled for any type of cabinr an employee must ha{ve comﬁleted
at least 10 years of service in the organization. )

His basic salary should be above Rs. 4,000.

Further : ]

If the employee is holding the position of Senior Manager, provide
independent, AC -cabin. ' 2 | |

If the employee has been in the position of Manager for the last 5 years,
provide an Independent cabin. | '

If the employee is in the position of Branch Manager or for more than
3 years has been holding the position of Senior Manager, prévide an
Independent, AC cabin with ante-room.

An employee has not completed 10 years of service but has at least 7 years
of service arid is in the position of Branch Manager, provide an independent
cabin. ' ;

An employee has been Manager for less than 5 years but has completed
15 years in the organization, should be provided independent cabin.

A & AR

(L

. @)
3)
(4)
(5)

foret ot wohR & B & fo, i B ST H w9 T w7 10 99 = Rear
s =R | : - - ;
SHh!, S F M 4000 %.. ¥ SR A
ﬁﬁﬁ?ﬁ?ﬁaﬁ%uﬁwéﬁm%ﬁeﬁ@ﬁaAC?ﬁ%ﬁﬁmi
ﬁwm5wﬁﬁwawm%a@mwmi

qﬁmﬁwuﬁwﬁ.wm%maﬁwﬁm-qﬁwww?ﬁﬂa
w%%ﬁ@mﬁ%%ﬁn@—ﬁ%guﬁﬁm |

AR FHE Y B B 10 9 R W ey, g v A w9 7 99 @ 9 v

VEYE % T W T 09w i e
TS FHIL 5 9 | FH e F 0 W Y, W Fd H 15 99 @ L, 75 wn
RIS H FHRI B
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68.

69.

70.

(

The following cases are given to you as on 01-04-1993. Based on the above

criteria, decide about the allotment of cabin.

ﬁ‘ﬂlﬁfﬂ?01-04.—1993$ﬁmﬁ'QW%l3qﬁﬂﬁﬁWWﬁ“ﬁ%ﬁ?ﬁﬂﬁﬂi
A

Give answer (A) if cabin is not to be provided; give answer (B) if independent

cabin is to be provided; give answer (C) if independent, AC eabin is to be provided

and give. answer (D) if the information given is not adequate to take decision.

W ST : (A) Al wfam 78 K T, (B) 3k @ds s fgan mn, (0) aft w==
AC%ﬁ?ﬁmW,(D)qﬁﬂﬁwﬁﬂh"@lﬁ%mmﬁﬁl

Sudhir Gopal joined the organization in 1980. Last year he was promoted as

Manager. His basic salary is Rs. 5,000.

ol o wet #1980 F oMw) s W ST wEUS F W W RN g o
ST T T 5,000 T ¥ |

Rajan Khurana joined the organization in 1975. His baéic salary is Rs. 8,200.

At present he is Branch Manager.
T GO FT § 1975 # @1 T g9 999 8,200 . ¥ 9 TE W@ ¥EuF ¥

Pankaj Mehta joined the organization in 1975. He was promoted as Manager

-in 1990. His basic salary is Rs. 5,100.

Uehe FEd HUA H 1975 H IS | ST TCIHAM FEEH T8 W 1990 F g¥ | T @
¥ 5,100 7. ¥ |

TBC : 21/(PYII—A 32




71.

72,

73.

74.

75.

Ajay Bhatnagar joined the organization as Branch Manager 8 years back. His

basic salary is Rs. 7,000.
FO HEAR FH § G WeE S R W 8 W Ted G I G 36 7,000 B )

Mukesh Maheshwari joined the organization in 1981 on the basic salary of

Rs. 4,200. Last year he was promoted as Senior Manager.

Y1 AR FUA | 1981ﬁ§§4mq§ém42006 o | Toedt 79 It gy
s yeyw & W W g

Vipin Chandra joined the organization as Manager in December 1982. His basic
salary is Rs. 6,300.
ﬁﬁqw%mww%uﬁwmm%ﬁwﬁmamwéﬂ?
6,300 % T

Sanjeev Rana joined the organization in 1984. He is holding the position of

Branch Manager for the last 5 years. His basic salary is Rs. 8,000,

u’%ﬁawﬁm1984ﬁwaﬁ|aﬁﬁ@é5aﬁﬁwuﬁwaﬁuﬁw%|
FTHT g a9 8,000 T T

Horse is related to Hay in the same way as Cow is related to ........... .

(A) Leaves (B) Fodder -
(C) Milk - D) Straw

(A) ufcar | | (B) =m

(C) gu : (D) gema
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76.

77.

78.

Find out the term such that AG : 10 : : EK : ?
(A) LR (B) MS
(C) PV D) SY

Ig waisit AG: 10 : : EK : ?

(A) LR (B) MS
(C) .PV (D) SY
If TAP is coded as SZO, then how is FREEZE coded ?
(A) EQDFYG (B) ESDFYF
(©) GQFDYF | (D) EQDDYD

Ife TAP, ®1 @I$ SZO 8 @ FREEZE w1 &S &1 2 ?
(A) EQDFYG (B) ESDFYF
(C) GQFDYF - (D) EQDDYD.

If ‘tee see pee’ means ‘Drink fruit juice’, ‘see kee le¢’ means ‘Juice is sweet’

and ‘lee ree mee’ means ‘He is intelligent’, which word in that language means

‘sweet’ ?
(A) see (B) kee
(C) lee (D) pee

g ‘tee see pee’ H AU Drink fruit juice’, ‘see kee lee’ F1 319 ‘Juice is sweet’
AT ‘lee ree mee’ HI Y ‘He is intelligent, 79 ‘sweet’ 3§ won & == &M ?

(A) see | (B) kee

(C) lee ' (D) pee
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~79. X introduces Y saying, “He is the husband of the granddaughter of the father
of my father”. How is Y related to X ?

(A) Brother - (B) Son
(C) Brother-in-law (D) Nephew

X%meﬁauaﬂng %ﬁiﬁm%ﬁmﬁﬁ?ﬂmwﬁ% @AY H X
Qg foa g 2

(A) g (B) =
(C) <sn/amEn D) &S

Read the following information carefully and answer the questions given below

it (Q. Nos. 80 to 84) :

Seven friends Kamla, Manish, Rohit, Amit;, Gaurav, Pritam and Priya are sitting
in a circle. Kamla, Manish, Rohit, Amit, Pritam and Priya are sitting at equal
distances from each other. Rohit is sitting two placés right of Pritém, who is
sitting one place right of Amit. Kamla forms an angle of 90 degrees from Gaurav
and an angle of 120 degrees from Manish. Manish is Just opposite Priya and
1s sitting on the left of Gaurav.

= g 1 e @ ufgr T ue F I AR (v 9. 80 @ 84)

T A wEen, T, Afeq, sifir, E, diew ol firm wE R A ) wwan,
s, e, Ay, o ok fran o g @ vom g0 W A #) Afew v @
T A R W waE e e @ ot § T e W ¥ wEer i
90%&?%6:%17:@%%3#%@ 120 ferft =y, ﬁm%ﬂmﬁ%a?ﬁw
& & da1 R
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80. Who is the only person sitting between Rohit and Manish ?

(A) Pritam (B) Amit
(©) Gaurav (D) Kamla
€ F s e e 7 T B A= E 2
(A) dr™ (B) =
(C) Ra . (D) wHHe
81. Gaurav is not sitting at equal distances from :
(A) Rohit and Pritam ~ (B) Amit and Kamla
(C) Manish and Pritam (D) All of these
e fras set gt W oA dar § 2
(A) U@ IR view B) wff IR Hwen
(C) =y iR im D) A |
82. Gaurav is sitting ...................... of Priya.
(A) To the left (B) To the right
(C) Two places right (D) None of these
i, fe § w g d 2
(A) @ 3R | (B) TE IR
(C) & WM TX 3R (D) TR FE A
83. The angle between Gaurav and Manish in the clockwise directidn is ;-
(A) 150° (B) 180°
(C) 210° - (D) None of these
W 9w @ e we W g Rw d W
(A) 150° (B) 180°
(C) 210° . D) T & wE T
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84. A starts crossing the field diagonally. After walking half the distance, he turns

right, walks some distance and turns left. Which direction is A facing now ?
* (A) North-east (B) North-west
(C) North (D) South-east

A TF e & f® @ ¥ W w@ Tt g T FA B IR 9% T T gea
T Q0 Fam & 9 frm and gea &) o@ A frm R @ T R 2

(A) SH-gd (B) SwW-ufyem
(C) S| (D) zfeor-ge

The following three questions are basedl on the following diagram in which
the triangle represents female graduates, small circle represents self-employed
females and the big t.:ircle represents self-reemployed females with bank loan
facility. Numbers are shown in the different sections of the diagram. On the

basis of these numbers, answer the following (Q. Nos. 85 to 87) :

ﬂ%ﬁnw?ﬁqmﬁqmﬁammmﬁa%,Wﬁgwmmaﬁm
¢ D g9 WSR Afeel W 7 w91 qu whEifi o (d% | + =
gﬁmaﬁ)aﬁwﬁ%uﬁa%ﬁfwmﬁﬁmﬁﬁﬁ@mw%lﬁmﬁ
W ARG v ® IW AN (W §. 85 | 87) |
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85. How many female graduates are self-employed ?
@ 12 B) 18
©) 15 D) 20
@ 12 B) 18 -
() 15 D) 20
- 86. How many female graduates are not self-employed ?
w4 B 10
(©) 12 ® 15 °
et e S oA T ¥ 2
(A) 4 (B) 10
© 12 - ™ 15
87. How many non-graduate females are self-employed ?
@9 - ® 1
©) 12 | ™ 21
e T T A el Therd Rt 2
(4) 9 ® 11

(©) 12 O 21
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Teaching, more even than mos-t other professions, has been transformed durmg'
skilled profession ooncerned Wlth a minority of the populatlon to a Iargo and '
important branch of the public service. The profession has a great ‘and honorable
‘tradition, extendmg from the dawn of history until recent times, but any teacher
in the modern world who allows hlmself to be inspired by.the ideals of his
predecessors is likely to be made sharply aware that it is not.his function to
teach what he thinks, but to mstﬂl such beliefs and prejudices as are thought
useful by his employers (Q. Nos. 88 to 90) .

T, wW%ﬁWWW%WwQQWﬁWHﬁ
aﬁag@wﬁvﬁaﬁhﬁrﬂﬁ%lﬁﬂ?ﬁﬁ(ﬁmﬁmaﬁﬁaﬂw
Ww)qﬁﬁwmeﬂwwawmgﬁmwﬂ@m
F ST gl 5 eTRell ¥ e W o, F 9l TER ¥ SRR T =TT fin
- IEE M UG T ¥ W ew e g mﬁﬁtﬁ?ﬁmaqﬁmwmﬁrm_
ﬁaﬁwmw&mﬁtﬁ%mﬁ%l(gossﬂgo) | ‘

88. In ancient t1mes the teaching profossmn was :
(A) Reserved for the upper ¢lass ‘ )
(B) Reserved for a privileged few' :
(C) Open to all . _
(D) Limited to a highly skilled minority
A ®E A sreag e S oor 2
(A) FIw 5= il @ h |
@ AR A v
(Clmﬁmm . | S

(D)ahamf‘aammwm
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89.

90.

(

What has transformed teaching into an important branch of publié service
is : -

(A) Teaching skills

(B) Technical developments

(C) Utilitarian philosophy

(D) The demand of the employing industry

.,awaﬁmﬂmaﬁﬁg@?mﬁﬁmﬁqﬁaﬁhm ?

(A)aqwagqu’ | | (B) il fasm™
(C) 3IWfaERt <vf (D) 3G HT W

According to this passage, in modern times a successful teacher is primarily

supposed to :

(A) Impart_knowledge

(B) Impart new and the latest skills

(C) Toe the lines preferred by those in authority

(D) Instil values he cherishes the most

T TV % SER AYAE §HY H UF A Fed g o S OE ;|
(A) §9 €3 =Tl

(B) 7 & sy sFIe 27 @

(C) §M = dre S smyffewdl &1 TEREl @

(D) 1 2 S W T R
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Fill in the blanks (Q. Nos. 91 to 95) :

Without water (....91....) animal can survive. In desert regions the greatest (....92....) -

water that exists in arid areas. One of nature’s masterpieces (.....94....) creatures

equipped to (....95....) with desert life is the hardy camels.
Tt wE 9RT (9. F. 91 ¥ 95) -

fof ot & SR (...91...) TSieT & wehd § 1 U= wed Wt (..92...) SeT =
lq:@' ST %1 U] s SHeR W&H § ST w1 H (...93.....) A9l U ot S e

Eﬁa?éagm”fﬁz%l

91. (A) every "~ (B) no
(C) any (D) desert
(A) TAw | (B)

(C) =1 : o ©)

92. (A) need (B) warry ‘
(C) threat (D) requirement
(A) =@ (B) faam
(C) Twu - (D) STEvEehl
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93. (A) what o (B) the
(C) very : | (D) that
(A) =1 (B) ©=
(C) o | D)

94. (A) for ~ (B) about
(C) among . (D) with
@) # fr ®) # = F
(C) & == D) %ma._

95. (A) live _ (B) resist
(©) bear T AT wupe
() W - (B) fory
(©) W D) =

Of the alternatives given find the one that best fits into the blank in each

of the following sentences (Q. Nos. 96 to 98) :
(A) blow out (B) blow up (C) blow away
e R foewed # & a7 fafay < frer ol & fiee Se@ ¥ (0 4 96 § 98 ):

(A) blow out (B) blow up  (C) blow away
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96.

97.

98.

99,

100.

Please ...........ceeveee... the candle.

When a man winnows grain, he lets the chaff .................. _

VE TF ARH! AN F FEHAA T, T O T e
The army intends to ..........cccee.e.. the bridge with gunpowder.
el G A oA - SR FE AEA ¥

Another name of interpersonal communication is :

(A) Mass communication (B
(C) Dyadic communication D)

IRAfE WER & g8 A ¥

(A) ¥ H9R S ®
© @R IR D
The word opposite to ‘Monolqgue’ is @
(A) Dialogue 4 (B)
(C) Epilogue | D)

‘wwrarg’ w1 fadet ¥
(A) Ha (B)

(C) 3I9EER : (D)
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Face to face communication

Virtual reality

AHA-THA FER
T areafasar

Prologue

Catalogue

P.T.O.




SPACE FOR ROUGH WORK
& W @ fow e
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SPACE FOR ROUGH WORK
we W & fou e
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SPACE FOR ROUGH WORK
@ wE @ fae W
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SPACE FOR ROUGH WORK
e @ & fau g
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